ISEG-UTL

Group A

(2,5) 1.In a monopolistically competitive market, firms face downward sloping demand curves.
As far as the effects of their price changes are concerned, what is implied by such curves? 

(2,5) 2.“The price of petrol in the highway that connects Lisbon and Oporto is extremely high, because petrol companies have to pay very high rents for the petrol stations located therein.”
Do you agree? Explain.





Group B

(3,0) 1. Which advantages may a company get as a result of vertical integration?
(3,0) 2. Discuss the impact of publicity on the welfare of consumers. In the context of that discussion, do you think the Government should regulate publicity? How? Explain.





Group C




                     I
Consider a duopoly where each firm produces 10 units of a good. The  Minimum Efficiency Scale (MES) is equal to 6 units. Above that scale unit costs are constant, equal to k.
The market demand curve  is given by Q = 80 – 2P.

(1,0) a) Determine the market price .

Suppose now that a new firm is studying the possibility of entering the industry at the MES.

(1,5) b) If the new firm is pessimistic, determine the change in the quantities produced by the incumbent firms expected by the new firm if it enters the industry. And what is the expected change in the market price? Explain.

(1,5) c) If the new firm is optimistic, determine the change in the quantities produced by the incumbent firms expected by the new firm if it enters the industry. And what is the expected change in the market price? Explain.

(2,0) d) For which values of k,

· It is indifferent for the new firm - as far as the decision to enter is concerned - to be pessimistic or optimistic?

· The new firm enters if it is optimistic, and does not enter if it is pessimistic?
· The industry disappears, because all firms close down?
                                  II

Consider a health club with a local monopoly. Its average cost is constant and equal to 8 €. The health club is currently studying two possible types of tariffs:

i) A price for each session (P), in which case it faces the following demand curve: Q = 200 – 4P.
ii) A fixed monthly fee (MF) plus a price per session (P), in which case it faces the following demand curve: Q = 160 – 4P.

(2,0) a) Determine the price per session in the two situations, and comment on the results.

(1,0) b) Which is the minimum monthly fee (MF) the health club should collect from all its customers in order to make the second type of tariff – ii) – more profitable?
